#6 Difference of Squares October 10, 2019

WARM-UP...

Factor each of the following...

a) x2-13x-30 b) zfx2 + 17x 35 c) 1[6x2 -24x+ 9
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Sep 23-12:39 PM

IV. Difference of Squares:

Conjugate: Same binomials except opposite signs between the terms.

MuI%onjugates shown%
(¥*3)(x-3) (5w—4)(Sw+4) (44@@

X53%+3%= A 250  2pw-20u-1  loabt s dabctabe—c’
X* 25w2-16 /bqlbt“Cl

Is there a pattern when a binomial gets multiplied by it's conjugate?

Oct 16-10:40 PM
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I. Difference of Squares
Criteria...
- two terms that are perfect squares.
- must be a difference
- factor like this...
-0 = (a+b)a-b)

EXAMPLES...
1) 81x*- 16 2) 196x” - 49

(9x- NI+ 4) (14x=7)X1$X +7)
3) 8x’- 18y 4) 817* - 625

2(4x*- qu ) (92429922 25)
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Sep 10-10:05 AM

Let's make things slightly more complicated...
Factor each of the following:

16— a b a +12 " 64d’
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Oct 19-12:20 PM
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HOMEWORK...

Puzzle Worksheet - Difference of Squares.pdf

Multiply:
I (3@5) = n*-25
D (2+3a)2-3a)-4-%q

Factor:

S x-y2  (x+yXX ~y)
| 4x - 49y° (Ax +7\/)(2x—7j>

Mar 10-11:39 AM



Attachments

Q Puzzle Worksheet - Difference of Squares.pdf



&  Why Didn't Klutz Do Any Homework on Saturday?

adjacent answer column. Write the letter

Multiply:

(D @+5)a-5)

suoeOlIqNd BAIESID 686} O

2a® — 5b)(2a

2

(2 + 3a)(2 - 3a)
(7a—1)(7a + 1)
(@ - 6)(a® + 6)
(4a + b)(4a — b)
(

+56b

)

@ 16a® — b?
(13) 4922~ 1
@ a®-25
(17) 4a* - 25p2
@ 4 — 9a°
(12 4a*-36
(24) a* - 36

(2n + 3){(2n - 3)
(12 + 5n)(12 — 5n)

Either multiply or factor, as directed, and find your answer in the
of that exercise in the box that contains the number of the answer.

Factor:

@ xmltm

(1) 4x? - agy?
W) 81x2 - 100y2
(E) 36x% - 121y?
(©) 9x® - 64y
(N) x* - 400

Factor:

(9x + 10y)(9x — 10y)
(X +y)(x—y)

(x? + 20)(x? — 20)
(6x + 11y)(6x — 11y)
(Bx + 7y)(3x — 7y)
(2x + 7y)

(3x + 8y)

2x — 7y)
3x — 8y)
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(19 (4 +a%b®) (4 - a?b?)
(19 (2a®+ 15)(2a® - 15)

2 ®

532 @

sm (A n?-1 (®) (n+1)n-1) (©) 25a® - 9b* @) (a°+b?)(a® - b?)
WW (N) 81-n? (5) (7n +3)(7n - 3) W) a%b?-36 (2 (ab®+c*)(ab® - c)
mw (H) 4n2-9 @) (h+7)n-7) (®) 16-a'b® (9) (ab +6)(ab - 6)

ww (D) 49n*-16 @8 (9+n)(©-n) K) a®b*-c® (16) (sa*+3b%) (52" - 3b?)
mm (E) 144 - 25n? 2O) (7n +4)(7n — 4) (N) 4a'® - 225 (0) (4 +ab*)(4 - ab?)
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